DIvVISION AND MULTIPLYING BY 10s (H - SET 5)
DIVISION BY 1000

Name:

Time:

Score:

20616000 == 1000 =

22566000 <+ 1000 =

25421000 + 1000 =

20110000 <+ 1000 =

25153000 == 1000 =

20 382000 <+ 1000 =

21504000 + 1000 =

25 622000 = 1000 =

20172000 <+ 1000 =

s 71000 + 1000 =

Mathematics: Division - Level 2 - Horizontal - Set 5
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724000 = 1000 =

210000 = 1000 =

85000 =+ 1000 =

487000 + 1000 =

444000 + 1000 =

636000 = 1000 =

155000 = 1000 =

509000 - 1000 =

375000 = 1000 =

135000 = 1000 =
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